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Lesson 6 — Holey Moley

Period: Date:

Purpose: You will practice solving problems in which you convert between mass of
solute, moles of solute, and liters of solution using molecular weight and molarity.

Part I: Sample problems involving molarity

1. The following table shows the relationship between mass of sucrose, moles of
sucrose, volume of sucrose solution, and the molarity of sucrose solution. The
molecular formula for sucrose is C12H22011. Complete the table.

Mass Moles Volume Molarity
342 ¢ 1.0 mole 1.0L [, OM
342 ¢g O |0 wo\= 10L 0.10M
342¢g 0.0 wmole 100 mL O. (o H
0.342 g 0.0010 mel [1Om L 0.10M
274 ¢ 0.080 moles 1.0L 0.080 M
17.1g 0.0S Omol 1.0L 0.050 M
6848 0.0 2 mol oL 0.02 M
274 ¢ 0.080 moles 500 mL 0.040 M
17.1g 0.050 moles SUVOm 0.025 M
0. %”\{} ©O.02 wol 500 mL 0.010 M

2. What is the molecular weight of sucrose? 2342 9

3. Suppose you remove a very tiny volume of solution from a 0.10 M sucrose
solution so that it contains only 40 sucrose molecules as shown in the box below.
(You couldn’t actually remove a volume this small!). If you removed the same
volume from a solution that is 0.50 M and one that is 0.10 M, how many sucrose
molecules would you have? Sketch your answers in the boxes provided.

40 2.0 IS
0o (@) (@) o
OO OOOOOOO ©
o Og ON0) 8 C
O o oO O~ O
o0 OO0 OO
o~ O OO o

0.1 M sucrose 0.05 M sucrose 0.01 M sucrose

68 Toxins © UC Regents, LHS Living by Chemistry, 2004.
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